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B.A. T.Y. (Sem-VI)

1172A Economics - XIV Industrial Economics

Time: One Hour Max. Marks: 25

Instructions
Solve any 25 questions from Q.1 to Q.30

1 Industrial Sector is also known as ............... ?
AT &7 AT AT S AT ?
(A)Primary Sector (B)Secondary Sector (C)Tertiary Sector (D)Quaternary Sector
srerfE A T & CEIREXED EERKED
2 Where are most of industries concentrated in India?
AT qEe JaTT 5% HE a2
(A)Rural Area (B)Distress Area (C)Villages (D)Urban Area
TTHIT &5 I & e ST &

3 Which of the following sector is produced Pen drive?
ATATATER VAT &1 I FTEe8 a9 Fed AT 2

(A)Primary Sector (B)Secondary Sector (C)Tertiary Sector (D)Quaternary Sector
sTorfEr & T AT CEIREE ] EEREED

4 What is the relation between Industrialization and economic growth of the economy?

(A)High Industrialization High  (B)Low Industrialization High  (C)No Industrialization High ~ (D)None of the above

economic growth economic growth economic growth. AT FOTTAr ATAr
I=F ARSI I= FHT SATRTRRLT I=T AT TR T8 3=

5 Which of the following five year plans focuses more on the heavy industrial development?
(A)First five year plan. (B)Second five year plan. (C)Fifth five year plan. (D)Sixth five year plan.
6 What is the role of industrial sector in socio- economic development of the economy?
FITEI=AT AT - (A= S=ITiT arsm= e a1 e ?
(A)1t promotes export of the  (B)It helps to develop agri and (C)lt provides social security’s (D)AIl of the above

economy service sector to the workers T T
remae=aT AATdrar FNT AT HaT & fawEa FHIEAT AHTE GLaT
TIeATET o FUTT Had dd T
7 How many are the main factors of production?
IR G HEdh il Alad?

(A)4 (B)3 (C)2 (D)1
¢ 3 R ?

8 How are the linkages between industrial and agricultural sector?

ST T T AT HA R ?

(A)Industrial sector promotes (B)Industrial sector works as an(C)Industrial sector doesn’t (D)None of the above
agricultural sector enemy of agriculture sector promote agriculture sector T A FOTTAr ATar
ST e FT AT AT S S AAET O ST G F T e
BN IEC R U FH A ATAAT & ATar

9 Which of the following is not the Government industry?

TErATEr FUET I I ATE?
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(A)Railway industry (B)Videocon Industry (C)Bharat Heavy Electricals

Yo IRITT fefeiatT 3o Ltd. (BHEL)
AT &4l SATFedod (o
(HeT)
10 Government Industry is also known as.........
AT JENT HIUTCHT ATa S ST ?
(A)Private Industry (B) Co-operative Industry (C)Public Industry

| =TT el IANT
11 Which industry is/ are known as basic industry?

FOTAT ST T o ST TR HABEAT AT / A& AT 2
(C)Coal industry

AT Ha I

(A)Cement Industry (B)Iron and steel industry

feee 3= e AT &It ITT FBEET JANT

12 What are the objectives of the Government industries?
TR IART I Fr A8 ?

(A)To achieve balanced (B)To produce basic product. (C)To work for economic
economic development. e IeqTaT a9 HT0T welfare.
gqfed A faame arer ATTIF HATITATST FH HIIT
i

13 What is the full form of MNC’s?
MNC'’s ¥ J07 F&T T 387

(A)Mass Network Connections (B)Multi-National Corporations (C)Multi Network Company
AT S FererrT AE-TTSERT FTTIT e S T

14 Where is the sugar industries located in India?
qrEY I YA FlS A8 ?

(A)At the place where (B)At the place of sugar market (C)At the place where huge

sugarcane production is M ST S=aT B, availability of factors of
more production

T BT IET ITUTET ST T BT ITTE ST
. =T ITASAT AR

15 When was published the book “The Theory of location of Industries”?
‘P AR AR HF ST & TH T TR 9T A ?
(A)1850 (B)1947
T4 e

(C)1909
%0
16 Who is the writer of the book “The Theory of location of Industries”?
Forar?T Sifh SH oI S SSEET AT TR S F SR
(A)Adam Smith (B)Alfred Marshal
T sw e HASHS ATIA

(C)Alfred Weber
RS 997

(D)Gas Authority of India Ltd.
(GAIL)

I SrTRET A g o
()

(D)Joint Industry
ERESIESIE

(D)AIl of the above
T q9

(D)AIl of the above.
I qT

(D)Medium National
Corporations

T ST HEH b

(D)At the place where
engineering colleges are
located

o BT S
mrrforarTeRT SR

(D)2010
Qogo

(D)Devid Recardo

S

17 How many are the main factors responsible for the location of industry according to the Weber?

LA Al IATT=AT SIHTHIS! T o Hed FaTaar Aaa?
(A)2 (B)6 (C)7
N & \9
18 Which of the following state is known as economically less developed state?
FIATATH VT T ARG =T FHT (G T T AEe AT ?
(A)Maharashtra (B)Bihar (C)Tamilnadu
AT e BT
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19 Where is found high proportion of poverty?

TP JHTT S AT A@B T2
(A)Maharashtra (B)Kerala (C)Chhattisgarh (D)Punjab
qETS Eac FAETS IS
20 Where is the concentration of Industries in Maharashtra?
(A)Mumbai-Pune (B)Beed- Usmanabad (C)Budhana -Wasim (D)Amravati- Yavatmal

21 When was started modern textile industry in India?

AT ATYAE TN HEIET & HATAT?

(A)1947 (B)1950 (C)1818 (D)2018
EENAY %o (S RefT
22 Where is the concentration of textile industry in India?
FETT N Falh?0T TaTT #2872
(A)Punjab- Haryana (B)Uttar Pradesh- Bihar (C)Sikkim- Nagaland (D)Maharashtra- Gujarat

23 What are the reasons of concentration of textile industries in only two states?

(A)Availability of huge and (B)Availability of required (C)Favorable weather (D)AIl of the above
qualitative raw materials infrastructure facilities AT EATA T a9
qaAd AT UITcHE Feed] AEIIH AT Gfaer=r
HATATET ITASIAT ITASIAT

24 When has been started sugar industry from in India?
AT AT ITT HEIIE & HATAT 38 2
(A)1947 (B)1903 (C)1990 (D)1975
€9 9%03 %0 9%.\9%
25 What are the problems faced by sugar industry in India?

YA 9T ST NTEAY ST GHEAT ATad 2

(A)Low productivity of (B)Increasing sick sugar (C)Sugar industries working  (D)AII of the above
sugarcane industries only seasonally T 9
I HHT IeqEHhdT ST JTET I AT T T el ST FH
areeT FATT

26 Which industry is known as the base of industrial development of a country?
FIAT AT FIT=AT AT [GRETET AT U S ST 2

(A)lIron and Steel Industry (B) Textile industry (C)Sugar industry (D)Leather industry
&g AT &I JAnT TN AT AT & AN

27 What are the impacts of liberalization policy on Indian small scale industries?
AT AT NEY JENRTOT SFUTET 0 TR AT 2

(A)Increased unfair competition(B) Unable to cost on (C)MNC'’s captured the market (D)AIl of the above

S — S advertisement THTE A (MNC's) TSI THT qE
T EAraT @ 00T ST&H Hiesll dol

28 When has been established IDBI Industrial Development Bank of India?
AT (IDBI) =TT faee d& At SRam= S49=r #7497 Areir?
(A)1990 (B)1964 (C)1950 (D)1980
%0 °RY %40 9% Ge
29 What is the need to develop rural area?

TTHIIT AT (G ([qae oI R ST a2
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(A)To established capital (B)To established agro (C)To develop mega cities (D)To establish big industries
intensive industries processing industries in T wre fasfare wer in cities
iSaeT shige I T =T rural area IET HiS I TSI HT0
FOUT TTHTOT AT &N TT=har
IR BITIT HI0

30 What is the full form of SAIL?

oA (SAIL) = IUF €7 FT A8 ?
(A)Steel Authority of India Ltd. (B)Steel Agency of India Ltd.  (C)South Asian International
TEIT TR 3w e o T USTET St 2 o Ltd.
aferor srforaTs staerseT v o fof. T &3
fer. A HAETTAE

(D)Sound Automobilist of
International Ltd.
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